THMEE WML FIRYE (PM2.5) B BIERER
REGF:BE=TRH(BARK)

SR HARS HERE AF R (g /m®)

(ug/m®) - = 7= ) T y 2% 2+

Cl NO, SO, Na NH, K Mg’ Ca

5= RXE 14 o005 107 269 o012 09| 007 0028 0.09
R3/5/13 | &/IME 26| 0010 005 0.5/ 0.0103| 0.17| 0.005(<0.0026| 0.006
~5/27 F i 7| 0021| o028 14 006 05| 0.031| 0009 0023
2= BXIE 166 005 0082 4| 0.151 16 008[ 002] 0027
R3/7/22 | &/IME 42| 00069 0046 066] 00611 0.17| 0.028| <0.004| <0.008
~8/4 F i 10[ 0013] 006 20| 0.111 0.7| 0.046| 0008 0011
Y ES RXfE 10 005/ 029 33| 017 11l o011 o001 o.10
R3/10/21 | &/IME 3| 0008 0066 067 0036] 0.17| 0.0265/<0.0023| 0.007
~11/3 F i 58| 0027] 0.16 14| 0103| 046] 0059 001 0022
2F PN 14| 007 1.7 46| 0.18 21| 0.13| 00272 0.4
R4/1/20 | &/ME 26| 0018 016 067 0066 0.34] 0.023| 0.0039| 0.009
~2/2 F gl 69| 0.04 0.7 20| 013 090[ 0050 001| 0022
SAEHAR TR (ng/m°)

Na Al Si K Ca Sc Ti \% Cr Mn Fe Co Ni Cu Zn
5= BX{E 151 368 177 188] 007 234 0871 14|  8.13[ 2700| o0.108] 1.04 32[ 279 2
R3/5/13 | &/ME 6.7 <27 97| 185| <0.013| 063 0078 0.7 040 9.4 00| 019 0435 8.6/ 0.069
~5/27 F i 63| 613 45| 727 0| 456 0.4 0.7 31| 687 00| 0.581 14 189 1
2= BXIE 143 224 54 25| <0.02 2| 0.756 13 32| 513 0035 082 20[ 118 1
R3/7/22 | &/ME 55.7 6| 174 7| <0.02| <04| o0.134] <006 o049 122 o] 022 0507 <1.6| 0088
~8/4 F i 101 25 35 13| <0.02 1.1 0.3 05| 159 278 0| 0.388 12 5.8 0
VS BX{E 169 537 93 66 0| 3.46 0 07| 313 559/ 0025 058 23[ 118 2
R3/10/21 | &/IME 26 52| 18.00| 13.00( <0.015 05| 0072 o011 o059 12.3] <0.005| 012 045 42| 005
~11/3 F i 86.6 19|  494| 272 0| 1.4479 02| 033 145 287 00| 0274 1.00 75 0.4
2F BX{E 143 66| 137 289 <0017 2.97 0.4 10[ 453 721 of o064 306 171 2
R4/1/20 | &/ME 34 <5 18 56| <0.017| 039 006] 008 041 106[ <0.009[ 0.06 0.4 2| 013
~2/2 F gl 87 21 54|  17.6| <0.017| 1.3607 0.2 04| 200 319 0| 0233 14 6.8 1
SAEHAR TR (ng/m°)

As Se Rb Mo Sb Cs Ba La Ce Sm Hf W Ta Th Pb
5= RXfE 0.7 07| 057 073 01| 344 0259 o060] 002 0.023| <0.005 34| 766 01| 1040
R3/5/13 | &/ME 0.13| 002| 0.12] 007| <0.006] 0.27| <0.005| 0.015| <0.011| <0.004| <0.005| 0.053| 0.415| <0.007| 18.00
~5/27 F i 038 017] o030 038 002 1.320 01| 019 000[ 0005 <0.005| 1.17| 3.1432 00| 189.3
2= RXE 0.7 0.1 056 0.7 00| 687 0.1] 0.05| <0.004| <0.015| <0.003 6.9 525 <0.004] 152
R3/7/22 | &/IME 0.138| 0.03| 0036 0.11[ <0011| 0670 0.007| 001| <0.004| <0.015| <0.003| 0.115| 052| <0.004 <8
~8/4 F i 039 007| 0260/ 0.29 00| 1.939 0.0| 0.028| <0.004| <0.015| <0.003] 2.05| 1.8493| <0.004| 23.0
S BX{E 0.8 02| 075 055 00| 1.93 0.1 0.23| <0008[ 001| <0.004] 108| 756 00| 178
R3/10/21 | B/MiE 0.089| 0.026| 0048 009[ <0.009] 0.33] 001| 0.026| <0.008| <0.007| <0.004] <0.04| 0.34| <0.004 7.0
~11/3 F i 031 010 020 031 001 0844 00| 009| <0.008| 0.0007| <0.004] 1.73| 2.1507 00| 487
2F RXfE 0.9 03| o061 097 0.1 5.210 0.1] 041 <0.009[ <0.005| <0.003 02| 7.09 0.0 82
R4/1/20 | &/ME 0.15| 0.044| 0058 0.101| <0.006] 0.21| 0.00| 0.009| <0.009| <0.005| <0.003| <0.016] 0.99(<0.0026 10
~2/2 F gl 038 014| o020 043 002 1.215 00| 0.08| <0.009| <0.005| <0.003] 0.05| 3.2879 00| 359
RAEHM RERD (Leg/m)

oct | oc2 | oc3 | oca [ocpyro| EC1 | EC2 | EC3 | oOC EC
5= BXIE 0.14 14 12[ 045 0.5 04| 003 043 34 05
R3/5/13 | &/ME | <0019| 042| 0.301| 0.112| 0.0644| 0.0729 0 o/ 090| o0.121
~5/27 EHE 0.02 07| o057 0271 029 o024 001 0179 18 0.4
2= BXIE 0.16 33 15[ 085 1.1 0.7 0.1 096 6.7 0.9
R3/7/22 | &/ME | <0029 1.34] 071 029 0222 o0.15 0| 0063 24| 031
~8/4 EHE 0.061 27| 116 057 064 031 003 0485 5.0 0.5
VS BX{E 0.064 09 103 058 090 03[ 003 0587 3.1 0.7
R3/10/21 | &/ME | <0023| 029 032 0.123] 0.114| 0.0892 0| 00719 089 0.143
~11/3 EHE 0| 054 o056 027 042 o018 0| 0.271 17| 033
2F PN 0.1 061 05| 047 101 03| 003 0566 2.2 0.7
R4/1/20 | &/ME | <0028| 0.18] 0.17| 0.080| 0.109( 0.0866 0| 0.0674] 0.50| 0.1280
~2/2 F il 0052 039 037 027 o052 o019 001 0315 14 040




